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Appendix A Python X  

1.   

 

• 1.  2.  3.  

 

1-1 ( 0) 1-2 ( 3) 1-3 ( 1) 1-4 ( 3) 

* 
** 
*** 
**** 
***** 

***** 
****** 
******* 
******** 
********* 
******** 
******* 
****** 
***** 

1 
22 
333 
4444 
55555 

555555555 
544444445 
543333345 
543222345 
543212345 
543222345 
543333345 
544444445 
555555555 

1-6 ( 0) 1-6 ( 0) 1-7 ( 4) 1-8 ( 3) 

A 
BB 
CCC 
DDDD 
EEEEE 

* 
* 
* 
* 
* 
 
***** 
 
1 
2 
3 
4 
5 
 
12345 
 
A 
B 
C 
D 
E 
 
ABCDE 

* 
** 
*** 
**** 
***** 
****** 
******* 
******** 
********* 
********** 
*********** 
************ 

******** 
********* 
********** 
*********** 
************ 
************* 
************** 
*************** 
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1-9 ( 2) 1-10 ( 2) 1-11 ( 3) 1-12 ( 3) 

********* 
 ******* 
  ***** 
   *** 
    * 
   *** 
  ***** 
 ******* 
********* 

********* 
********* 
********* 
********* 
********* 
********* 
********* 
********* 
********* 

   432101234 
 4 ********* 
 3 ********* 
 2 ********* 
 1 ********* 
 0 ********* 
 1 ********* 
 2 ********* 
 3 ********* 
 4 ********* 

 9876543210123456789 
1********* ********* 
2********* ******** 
3********* ******* 
4********* ****** 
5********* **** 
6********* **** 
7********* *** 
8********* ** 
9********* * 

1-13 ( 2) 1-14 ( 2) 1-15 ( 1) 1-16 ( 3) 

AAAAA 
BBBB 
CCC 
DD 
E 

1 
01 
101 
0101 
10101 

01111 
20222 
33033 
44404 
55550 

    *         * 
 
   * *       * * 
 
  * * *     * * * 
 
 * * * *   * * * * 
 
* * * * * * * * * * 

1-17 ( 3) 1-18 ( 3) 1-19 ( 2) 1-20 ( 3) 

****1 
***121 
**12321 
*1234321 
123454321 

****5 
***44 
**333 
*2222 
11111 

*1 
*2**3 
*4**5**6 
*7**8**9*10 
11*12 13*14*15 

ABCDEFEDCBA 
ABCDEFEDCBA 
ABCDEFEDCBA 
ABCDEFEDCBA 
ABCDEFEDCBA 
ABCDEFEDCBA 

1-21 ( 1) 1-22 ( 3) 1-23 ( 5) 1-24 ( 5) 

SS 
SC 
SCH 
SCHOO 
SCHOOL 

e       e 
 d     d 
  c   c 
   b b 
    a 
   b  b 
  c    c 
 d      d 
e        e 

    *  
   1 1  
  A B A  
 1 2 2 1  
* * 0 * *  
 1 2 2 1  
  A B A  
   1 1  
    * 

* 
** 
*** 
1**1 
22*22 
333333 
A**A**A 
BB*BB*BB 
CCCCCCCCC 
1**2**3**4 
11*22*33*44 
111222333444 
1**1**1**1**1 
12*12*12*12*12 
123123123123123 
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2.   

/  

 
 
 

 print()  ( 0) 

2-1  print()  "Hello, Python 3!"  

 

 

Hello, Python 3! 

 
 
 

 ( 1) 

2-2  x  y  

 

 

x : 5 

y : 10 

 

x : 10 

y : 5 

 
 
 

 ( 1) 

2-3  0  

 

 

: -5 

-5.0  
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 ( 1) 

2-4  

 

 

: 13 

13  

 
 
 

 ( 2) 

2-5  3 n1 n2 n3  

 

23, 8  41  41 

 
 
 

 ( 2) 

2-6  

 

4  

4 100  

100 400  

400  

 

 

:2019 

2019  
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2-7  

 (Prime number)  1 5 

1  5  6  1  6 2  3  

num  num  2  num – 1  num  

 

 

: 41 

41  

 
 
 

 

2-8  

 n  n  

(Armstrong number)  (Narcissistic number) 153 

13 + 53 + 33 = 153  (1, 2, …)  88  

39  

 

 

: 407 

407  

 
 
 

 ASC II  

2-9  0 ~ 127  ASCII  

ASC II  

 

 

A  ASCII  = 65 

a  ASCII  = 97 

a  ASCII  = A 
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3.   

 

 
 
 

 

3-1  a  b  

a = 18, b = 35  

 

 

a + b = 53 

 
 
 

 

3-2  n  

n = 7  

 

 

 

 

n  ** 0.5 = 2.6457513110645907 

n  ** 0.5 = 2.64575 

 
 
 

 

3-3  

n = 168 bin() oct() hex()  

 

 

 = 168 

 = 0b10101000 

 = 0o250 

 = 0xa8 
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3-4  1  n  

n = 10  

 

 

 = 55 

 
 
 

 

3-5  dsin()  

 

 

 

Sin(30) = 0.49999999999999994 

Sin(45) = 0.7071067811865476 

Sin(60) = 0.8660254037844386 

 
 
 

 

3-6  

 if  

 

 

: 

1.  

2.  

3.  

4.  

 

(1/2/3/4): 3 

 

: 3 

 

: 4 

3 * 4 = 12 
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3-6  

 =  * 0.621371  

 

 

3.600  =  2.237  

 
 
 

 

3-7  

 = (  * 1.8) + 32  

 

 

 37.2  =  99.0 

 
 
 

 

3-8  a b c  

 

 

 

 37.2  =  99.0 

 
 
 

 

3-9  ax2 + bx + c = 0  x  

 

 

 

: -3.0 and 5.0 
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3-10  print()  

 

 

1*x*1*=**1**1*x*2*=**2**1*x*3*=**3**1*x*4*=**4**1*x*5*=**5**1*x*6*=**6**1*x*7*=**7**1*x*8*=**8**1*x*9*=**9 

2*x*1*=**2**2*x*2*=**4**2*x*3*=**6**2*x*4*=**8**2*x*5*=*10**2*x*6*=*12**2*x*7*=*14**2*x*8*=*16**2*x*9*=*18 

3*x*1*=**3**3*x*2*=**6**3*x*3*=**9**3*x*4*=*12**3*x*5*=*15**3*x*6*=*18**3*x*7*=*21**3*x*8*=*24**3*x*9*=*27 

4*x*1*=**4**4*x*2*=**8**4*x*3*=*12**4*x*4*=*16**4*x*5*=*20**4*x*6*=*24**4*x*7*=*28**4*x*8*=*32**4*x*9*=*36 

5*x*1*=**5**5*x*2*=*10**5*x*3*=*15**5*x*4*=*20**5*x*5*=*25**5*x*6*=*30**5*x*7*=*35**5*x*8*=*40**5*x*9*=*45 

6*x*1*=**6**6*x*2*=*12**6*x*3*=*18**6*x*4*=*24**6*x*5*=*30**6*x*6*=*36**6*x*7*=*42**6*x*8*=*48**6*x*9*=*54 

7*x*1*=**7**7*x*2*=*14**7*x*3*=*21**7*x*4*=*28**7*x*5*=*35**7*x*6*=*42**7*x*7*=*49**7*x*8*=*56**7*x*9*=*63 

8*x*1*=**8**8*x*2*=*16**8*x*3*=*24**8*x*4*=*32**8*x*5*=*40**8*x*6*=*48**8*x*7*=*56**8*x*8*=*64**8*x*9*=*72 

9*x*1*=**9**9*x*2*=*18**9*x*3*=*27**9*x*4*=*36**9*x*5*=*45**9*x*6*=*54**9*x*7*=*63**9*x*8*=*72**9*x*9*=*81 

 
 
 

4.   

 (algorithm)  

 
 
 

 

4-1  1  

 

 

240 : 

1 2 3 4 5 6 8 10 12 15 16 20 24 30 40 48 60 80 120 240 

 
 
 

 

4-2  1  

 

 

240 : 

1 2 3 4 5 6 8 10 12 15 16 20 24 30 40 48 60 80 120 240 
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4-3  

loop if break  

 

 

50  100 : 

53 59 61 67 71 73 79 83 89 97 

 
 
 

 (GCD) 

4-4  

 

 (GCD) 

 GCD 

 

 

 

GCD = 6 

 
 
 

 (GCD-LCM) 

4-5  (GCD)  (LCM)  

 

 return  

 

 

56 & 24  GCD = 8 

56 & 24  LCM = 168 
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 (n!) 

4-6  1  50  

 n!  n! = n * (n-1) *  * 2 * 1  

1! = 1 2! = 2 * 1 = 2 3! = 3 * 2 * 1 = 6  

 

 

**1!= 1 
**2!= 2 
**3!= 6 
**4!= 24 
**5!= 120 
**6!= 720 
**7!= 5040 
**8!= 40320 
**9!= 362880 
*10!= 3628800 

*  

*49!= 608281864034267560872252163321295376887552831379210240000000000 
*50!= 30414093201713378043612608166064768844377641568960512000000000000 

 
 
 

 

4-7  

 (Fibonacci)  0 1  

0, 1, 2, 3, 5, 8, 14, 21,  

 

 

0 1 1 2 3 5 8 13 21 34 55 89 144 233 377 610 987 

 
 
 

 

4-8  1 ~ 1000  

 

 

0 1 1 2 3 5 8 13 21 34 55 89 144 233 377 610 987 
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4-9  

n = 10  

 

 

55 

 
 
 

 

4-10  

n = 6  

 (sum)  (factorial) 

 

 

 

6! = 720 

 
 
 

 

4-10  

 34  

 

 

100010 
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5.   

 


